12|13 |4]|5]|6]7|8]9]l0
N 21BIH|IS]I6]|I7]18]19]20
21122123|24|25|26|27|28]29|30
31{32133|34135]36|37]|38]39|40
H1 |42 |43 |94 |45 |46 |47 |48 |49 |50
ol [52]53|54|55]56|57]58|59|60
6l |62|63|64|65|66|67]|68|69]|70
0 72\ 73| /4| 75|76 77|78]|74]80
a1 [82183184l85 8687188 89 40 " " = = moEEoEEEEEEEEEEEEEoE oo

- Model and solve with repeated addition. -
91921931 94| 95| 96| 97| 98] 99100 .

| |
Circle the numbers in the hundreds - "
chart to show how to skip count by " = = 2 =3NS NSNS SN EE NN N
4s six times. r?y_ e ————S =
%Se Xs to Represent an Array % vl P e M) T ™ P T |
. il ) Gl | et Bl | et Ll
I | —— [ i LR N T |

There are groups of.
>>5--' - é _ There ere ~ boots in each group.




1213|4156 7|8|9]|I0
N2 B H|IS|I6]17]18]19]20
2122123 |24]25|26127]28|29]30
31132|33]|34]35|36]37|38|349|40
HI (42 |43 44|45 |H6 47|48 | 49|30
ol [52|33]34]55|56]57]58]39|60
6l |62]|63|64|65]|66|67|68|69|70
|72\ 73|74 75]76|77| 78| 74|80
81182183|84]85|8687]|88|89]90
91921931 94] 95| 96| 97| 98] 99|00

Model and solve with repeated addition.

Circle the numbers in the hundreds
chart to show how to skip count by
bs six times.

%se XS to Represent an Arrdﬁ

groups of.

b\ o . A LL There are oees in each group. ﬂ




11213 |4]|5]|6]7]|8]9]I0
W21 H|L|6]17]18]14]20
20122123|24125]26|27|28]29|30
31132|33]34}35]36|37]38|39|40
H1 |42 |43 |94 |45 |46 |H7 |48 |H9|S0
ol [92]33 34559657138 |59|60
6l |62]163|64]|65|66|67168|649]70
|72\ 73| 74175|76|77]178|74|80
8l [82]|83(84]85|86|87]88|849|90
9192193]94]95]96]97]98[99[I00

Circle the numbers in the hundreds
chart to show how to skip count by
7s six times.

MSG Xs to Represent an Arrdy a

_ - There are groups of'.
&\ .. . A l There are butterflies in each group.
2 : s . b ps. o . o s I ek >




12|13 |4]|5]|6]7|8]9]l0
N 21BIH|IS]I6]|I7]18]19]20
21122123|24|25|26|27|28]29|30
31{32133|34135]36|37]|38]39|40
H1 |42 |43 |94 |45 |46 |47 |48 |49 |50
ol [52]53|54|55]56|57]58|59|60
6l |62|63|64|65|66|67]|68|69]|70
0 72\ 73| /4| 75|76 77|78]|74]80
a1 [82183184l85 8687188 89 40 " " = = moEEoEEEEEEEEEEEEEoE oo

- Model and solve with repeated addition. -
91921931 94| 95| 96| 97| 98] 99100 .

|
Circle the numbers in the hundreds -
chart to show how to skip count by

8s six times. z o
V.' - p— - - - . ‘? . p I
% Use Xs to Represent an Arrqy -3 || *& 3

F e )

|

IK .

i 4

| There cre groups of. |
>>5--' : é J There are sed urchms in each group. ]
‘.‘_____ N VP —_ _)




12]13[4]5]|6]|7]8]9]I0
W21 3f{H|IS]I6]17]18]19]20
20122123\ 24|25|26]27]28|29|30
31{32133|34]35]36|37]38|39|40
H1 |42 |43 |94 |45 |46 |H7 |48 |49 |50
ol 52153 |54]55]56|57]58|59]60
bl [62]163]|64]65]|66|67]68|649]|70
72\ 73| 74|75|76|77|78|79|80
81182183|84]85|86]87|88|89|90
q{92|93|94|95|96|97| 98 qqﬂOO

Circle the numbkers in the hundreds
chart to show how to skip count by
9s six times.

B “Use Xs to Represent an Arroﬁ

’-'1,
Ju’ \1 e \\-r.f Jf‘.

There are

. Thereare

\_, ___.\ N
r\ Y L (M \u‘
Qs *w f 3 %i\?u__;\:-_J (
groups of.

gbve8n1eackwgroup

_7#  — — -—-_.- ..

W |
N T




2

3

Ll

S

6

7

8

q

10

2

13

H

15

16

[7

18

19

20

2

22

23

24

25

26

27

28

29

30

3l

32

33

34

35

36

37

38

39

H0

Hi

H2

13

i

45

H6

47

48

ok

20

ol

02

93

o

90

o6

o/

o8

o9

60

6l

62

63

e

65

66

67

68

69

70

7l

72

73

™

75

76

77

78

9

80

8l

82

83

84

85

86

87

88

89

90

q

92

93

™

D

96

97

98

9a]100

Circle the numbers in the hundreds
chart to show how to skip count by

10s six times.

%se XS to Represent an Array a

There are

There Qre

\\

groups of'.

snails in each group.
£ —gle




1|2]3|4]|5]|6|7]8|9]10
W2 B H|IG|I6|17]18]19]20
21122123|24|25|26]27]128|29|30
31132133|34]35]36(37|38|39]|40
H[H2 43 | 4445 |46 |47 48 | 49|50
ol |52 |53 |54|55]56(57|58]59|60
6l 162|63|64|65|66(67|68|69|70
N 72173 M| 75|76(77]78|79|80

81182]83184]85]86|87(88]89|90 " Model and solve with repeated addition. .
Q92193 |M|95|96]97|98 qq||00 = u
Circle the numbers in the hundreds " )

chart to show how to skip count by
11s six times.

%se XS to Represent an Array a

There are groups of'.

>,\ R S T R é G_:;.Therif]re popcarns in each group. J




12]13[4]5]|6]|7]8]9]I0
W21 3f{H|IS]I6]17]18]19]20
20122123\ 24|25|26]27]28|29|30
31'{32133|34]35]36|37]38|39|40
H1 |42 |43 |94 |45 |46 |H7 |48 |49 |50
ol |52 5354555657 (5859 |60
6l |62|63|64|65]|66|67|68]69|70
72\ 73| 74|75|76|77|78|79|80
sl ls2183l84l85 186187 8884 90 " s s s E s EoEEoEEEEEEEEEEEEEoEoEo

" Model and solve with repeated addition. .
9119293 [94]95]96|97|98 |94 ||00 " .

Circle the numbkers in the hundreds
chart to show how to skip count by
12s six times.

mse XS to Represent an Arrdﬁ

There are groups of'.

L

—_—— . — .

;.. Thereare_ . Starfish in each group.




[ know my 6 facts!

OxH= OXd= OXx|2=
Ox Y= OHXHO= Ox8=
Oxl= Ox|= OxO=
OXx|2= OX 7= OxH=
Oxo= OxH= OXo=
OXx8= OXxll= OX =
Ox|0O= OxY= OXo=
Ox2= Ox8= OX /=

Oxll= OX|2= OxY=



